
182 apples are to be divided equally into 7 boxes. How many apples are in each box?

534 eggs are placed into half-dozen cartons. How many cartons will there be?

225 students are placed in 9 equal teams. How many students are in each team?

Dividing three digit numbers by a single digit number

There are 192 students going into Grade 6. Eight classes with an equal number of students in 
each class need to be formed. How many students are in each class?

Six identical parcels have a combined mass of 468 kilograms. What is the mass of each parcel?

A cyclist completed 7 laps of a course riding a total distance of 161 km. What is the length of 
each lap?

Jackson earned £595 for working 7 days.  If he earns the same amount each day, what is his 
daily rate?

How many 8 cm pieces of string can be cut from a 4 m roll?

294 pencils are to be divided equally between 7 classes. How many pencils will each class get?

A store sells 6 of the same printer for £528. If it was during a half-price sale, what is the normal 
price for each printer?
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